The comparison between COSI Score to FSS in
January 2013



The Plan maps for 3 period in January 2013
(1/1/2013-10/1/13, 11/1/2013-20/1/13 and 21/1/2013-
30/1/13)



The Maximum Score for COSI and FSS is the best SCORE (in Red Color)
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FSS 11/1/2018-20/1/2018
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FSS 21/1/2018-30/1/2018
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The interaction Graphs for 3 period in Janaury 2013
(1/1/2013-10/1/13, 11/1/2013-20/1/13 and 21/1/2013-
30/1/13)
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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C0516Iam Vs radfac for 3 decades in 2013 (1/1/2013-30/1/13) ranges step=(ma -81'51)/9
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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COS%gOsnow Vs ucl for 3 decades in 2013 (1/1/2013-30/1/13) ranges step=(max-inin)/9
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For 3 decades in January 2013 (1-10/1/13, 11-20/1/2013 and 21-30/1/2013
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